

N. linear Eq. Sept. 1954 (1)

$$\frac{\partial^2 \varphi}{\partial x \partial y} - \kappa^2 \varphi + \lambda \varphi^2 = 0$$

$$\varphi(x, y) = \sum_{n=-\infty}^{+\infty} a_n e^{i n (\kappa y - x)}$$

real:  $\tilde{a}_n = a_{-n}$

$$\sum_{n=-\infty}^{+\infty} (\kappa^2 k_n k_n + \kappa^2) a_n e^{i n (\kappa y - x)}$$

$$= \lambda \sum_{l, m} a_l a_m e^{i(l+m)\kappa y - x}$$

$$= \lambda \sum_{\substack{l, m \\ l+m=n}} a_{\frac{n+l}{2}} a_{\frac{n-l}{2}} e^{i n \kappa y - x}$$

$$\left. \begin{array}{l} l = \frac{1}{2}(n+p) \\ m = \frac{1}{2}(n-p) \end{array} \right\} \left. \begin{array}{l} l+m=n \\ l-m=p \end{array} \right\}$$

n: even, p: even  
 n: odd, p: odd

$$(n^2 \kappa^2 k_n k_n + \kappa^2) a_n = \lambda \sum_{\substack{p \\ p \text{ even for } n \text{ even} \\ p \text{ odd for } n \text{ odd}}} a_{\frac{n+p}{2}} a_{\frac{n-p}{2}}$$

~~$a_1, a_2$~~   $a_1, a_2$  は 40V のとき  $\kappa^2$  の値

$(\kappa^2 k_n k_n + \kappa^2) a_n = \lambda a_n a_m$  のとき、 $a_n a_m$  の値は  $a_n$

の値に等しいと仮定する:

第一近似:  $(n^2 \kappa^2 k_n k_n + \kappa^2) a_n$  の値は  $a_n$  の値に等しいと仮定する。

(2)

↑ m n n  
 ↑ m n  $k_n k_n + \kappa^2 = 0$   
 $a_1, a_{-1}$  を定数とする。

$$(\kappa^2 k_n k_n + \kappa^2) a_n = \sum_{p \text{ odd}} a_{\frac{1}{2}(1+p)} a_{\frac{1}{2}(1-p)} + \sum_{p \text{ odd}} a_{\frac{1}{2}(1-p)} a_{\frac{1}{2}(1+p)}$$

$$\left. \begin{aligned} a_1 &= A e^{i\theta} \\ a_{-1} &= A e^{-i\theta} \end{aligned} \right\}$$

$$\# = 2\lambda (a_1 a_{-1} + a_{-1} a_{n+1})$$

$$\kappa^2 a_0 = 2\lambda a_1 a_{-1} \quad \left. \begin{aligned} a_0 &= \frac{2\lambda}{\kappa^2} A^2 e^{i\theta} \end{aligned} \right\}$$

$$A^2: \quad \begin{aligned} (\kappa^2 k_n k_n + \kappa^2) a_2 &= 2\lambda a_1 a_0 \\ &= 2\lambda a_1^2 \\ -3\kappa^2 a_{-2} &= \lambda a_{-1}^2 \end{aligned} \quad \left. \begin{aligned} a_2 &= \frac{\lambda}{3\kappa^2} A^2 e^{2i\theta} \\ a_{-2} &= \frac{-\lambda}{3\kappa^2} A^2 e^{-2i\theta} \end{aligned} \right\}$$

$$A^3: \quad \left. \begin{aligned} -8\kappa^2 a_3 &= 2\lambda a_2 a_1 + a_3 a_0 \\ &= 2\lambda a_1^2 e^{i\theta} \\ -8\kappa^2 a_{-3} &= 2\lambda a_{-1} a_{-2} \end{aligned} \right\}$$

$$a_3 = \frac{2\lambda}{8\kappa^2} A^3 e^{3i\theta} + \dots$$

$$a_{-3} = \frac{2\lambda}{8\kappa^2} A^3 e^{-3i\theta} + \dots$$

(3)

$$a_n = C_n^{(n)} A^n e^{ni\theta}$$

$$a_{n-1} = C_{n-1}^{(n-1)} A^{n-1} e^{(n-1)i\theta} + C_n^{(n-1)} A^n e^{ni\theta}$$

$$\vdots$$

$$a_m = C_m^{(m)} A^m e^{mi\theta} + C_{m+1}^{(m)} A^{m+1} e^{(m+1)i\theta} + \dots + C_n^{(m)} A^n e^{ni\theta}$$

$$\vdots$$

$$a_1 = C_1^{(1)} A e^{i\theta} + \dots$$

~~$$a_{-1} = C_{-1}^{(-1)} A^{-1} e^{-i\theta} + \dots$$~~

$$a_0 = C_2^{(0)} A^2 + \dots$$

$$a_{-1} = C_{-1}^{(-1)} A e^{-i\theta} + \dots$$

$a_{-2}, a_{-1}, a_0, a_1, a_2$

$$-3\kappa^2 a_{-2} = \lambda (a_{-2} a_0 + a_{-1} a_1 + a_0 a_{-2})$$

$$0 = \lambda (a_{-2} a_1 + a_{-1} a_0 + a_0 a_{-1} + a_1 a_2)$$

$$\kappa^2 a_0 = \lambda (a_{-2} a_2 + a_{-1} a_1 + a_0^2 + a_1 a_{-1} + a_2 a_{-2})$$

$$0 = \lambda ( \dots )$$

$$\rightarrow \kappa^2 a_2 = \lambda ( \dots )$$

(9)

$$a_{-2} = \frac{-\lambda}{3\kappa^2} A^2 e^{-2i\theta}$$

$$a_1 = A e^{-i\theta} + \cancel{C_+ A^2} + \cancel{C_- A^3}$$

$$a_0 = \frac{2\lambda}{\kappa^2} A^2$$

$$a_1 = A e^{i\theta} + \cancel{C_+ A^2} + \cancel{C_- A^3}$$

$$a_2 = -\frac{\lambda}{3\kappa^2} A^2 e^{2i\theta}$$

~~$$a_{-1} = A^2 e^{-2i\theta} + (C_+ e^{-i\theta} + C_- e^{i\theta})$$~~

A<sup>4</sup>

$$\frac{-\lambda}{3\kappa^2} \cdot \frac{2\lambda}{\kappa^2} (e^{2i\theta} + e^{-2i\theta}) + C_+ C_- = 0$$

$$|C_+|^2 = \left\{ \frac{2\lambda^2}{3\kappa^4} (e^{2i\theta} + e^{-2i\theta}) \right\}$$

$$= \frac{\lambda^2}{3\kappa^4} |\cos 2\theta|$$

A<sup>3</sup>

$$-\frac{\lambda}{3\kappa^2} e^{-4i\theta} + \frac{2\lambda}{\kappa^2} e^{-i\theta} + \frac{2\lambda}{\kappa^2} e^{i\theta}$$

$$\neq \frac{\lambda}{3\kappa^2} e^{-2i\theta} \neq 0$$

(9)

$$(n^2 K + \kappa^2) a_n = \lambda \sum_{l+m=n} a_l a_m$$

$$(4K + \kappa^2) a_2 = \lambda (a_2 a_0 + a_1 a_1 + a_0 a_2)$$

$$(K + \kappa^2) a_1 = \lambda (a_2 a_{-1} + a_1 a_0 + a_0 a_1 + a_{-1} a_2)$$

$$\kappa^2 a_0 = \lambda (a_2 a_{-2} + a_1 a_{-1} + a_0^2 + a_{-1} a_1 + a_{-2} a_2)$$

---

$$a_2 = b_2 A + c_2 A^2 + d_2 A^3 + \dots$$

$$a_1 = b_1 A + c_1 A^2 + d_1 A^3 + \dots$$

$$a_0 = b_0 A + c_0 A^2 + d_0 A^3 + \dots$$

$$A: (4K + \kappa^2) b_2 = \lambda$$

(6)

$$(K + \kappa^2) a_1 = \lambda (a_1 a_0 + a_0 a_1)$$

$$\kappa^2 a_0 = \lambda (a_1 a_{-1} + a_0^2 + a_{-1} a_1)$$

$$a_1 = A_1 e^{i\theta}$$

$$a_0 = \frac{K + \kappa^2}{2\lambda}$$

$$\cancel{2\lambda} \frac{K + \kappa^2}{2\lambda} \left( \kappa^2 - \frac{K + \kappa^2}{2\lambda} \right) = 2\lambda A^2$$

$$A_1 = \frac{1}{(2\lambda)} \sqrt{(K + \kappa^2)(\kappa^2 - K)}$$

$$(4K + \kappa^2 - 2\lambda a_0) A_2 = A_1^2 e^{2i\theta}$$

$$\left\{ \begin{aligned} (K + \kappa^2) A_1 &= 2\lambda \left( \frac{A_1^3}{4K + \kappa^2 - 2\lambda a_0} + A_1 a_0 \right) \\ &\quad + a_0 \end{aligned} \right.$$

$$\left\{ \begin{aligned} \kappa^2 A_0 &= 2\lambda \left( \frac{A_1^4}{4K + \kappa^2 - 2\lambda A_0} + A_1^2 \right. \\ &\quad \left. + A_0^2 \right) \end{aligned} \right.$$

(7)

phase factor  
 $a_n \rightarrow e^{in\theta}$

$$(n^2 K + \kappa^2) a_n = \lambda \sum_{l+m=n} a_l a_m$$

$n = \text{real},$   
 $a_n = a_{-n}.$

$$\left\{ \begin{array}{l} (n^2 K + \kappa^2 - 2\lambda a_0) a_n = \lambda \sum_{\substack{l+m=n \\ l, m \neq 0}} a_l a_m \\ n \neq 0 \\ (\kappa^2 - \lambda a_0) a_0 = \sum_{l=1}^{\infty} a_l^2 \end{array} \right.$$